1./58

EFETHETRAOR
FRERERAOGIEAZEHZED) IIZEJ?,30¢1 OH 18 EE'E
BT 4 HH 5 £ it
B] i3 3m] ;28 AT 296 370 417 787
AER1TH 1,034 1,211 1,308 2,519
EARI2TH 1,214 1,113 1,428 2,541
A R T 2,272 2,392 2,642 5,034
BERT1TH 509 529 592 1,121
B ERT2TH 418 430 489 919
B ERI3TH 323 380 356 736
B ERTATH 514 489 515 1,004
B EBRTSTH 835 936 954 1,890
I ER6TH 369 402 434 836
HiF = HT 530 620 663 1,283
45 KHT 463 539 549 1,088
HHT 1,002 1,157 1,274 2,431
BEHT 60 62 65 127
A K BT 626 759 762 1,521
7 HT 437 461 468 929
RICET 477 523 556 1,079
FORHET 200 215 238 453
RFHT 213 225 252 477
KHET 369 351 405 756
KET1TH 233 271 297 568
XKET3TH 280 333 317 650
XETATH 871 840 1,032 1,872
fit] LLI BT 2,334 2,781 2,913 5,694
JE LT 1,241 1,567 1,669 3,236
EHERISTH 426 557 552 1,109
EHERT4TH 351 419 463 882
EHERSTH 317 368 451 819
EHERI6TH 211 284 253 537
EHERT7TH 158 234 236 470
=Y:i 325 357 409 766
¥ [F HT 1,530 1,466 1,742 3,208
=i ET 493 542 619 1,161
2l 3t BT 466 618 590 1,208
N =15 102 120 131 251
+HEFRT 655 681 731 1,412
L EFHTER 840 761 838 1,599
L HAET 2,077 2,352 2,491 4,843
LFH¥AET1TH 75 126 125 251
LH¥\ET2TH 157 166 188 354
RT3 T H 149 152 174 326




BT 4 HH 5 £ i
L¥AET4 T B 164 175 209 384
LHAETS T B 206 279 290 569
I == HT 220 224 256 480
JOSFET1TH 518 524 569 1,093
M=rET2TH 553 561 567 1,128
JO=rET3TH 429 440 422 862
M=rET4T H 1,116 1,151 1,192 2,343
I S5k T 591 616 686 1,302
I=F5di) 238 249 274 523
At B BT 30 40 40 80
Jt ET 428 394 397 791
R T 786 937 992 1,929
FHRHET 77 90 99 189
i 2 FF T 367 420 467 887
BEFE1TH 81 101 111 212
BEFE2TH 264 319 329 648
T EHT 130 155 150 305
/N BB BT 3,042 3,194 3,428 6,622
1R HT 264 298 325 623
YEF HT 725 762 795 1,557
EXBI1TH 257 257 266 523
=/7 LLHT 239 178 136 314
Hh ek HT 20 21 5 26
T A EHET 10 12 10 22
THHEE1TH 694 687 725 1,412
THHEE2TH 519 590 565 1,155
THHEESTH 732 729 842 1,571
TEHE1TH 199 197 186 383
TEHRI2TH 801 787 901 1,688
TEHRISTH 165 178 184 362
TEHRI4ATH 81 82 94 176
TEHRISTH 240 247 271 518
THAHET 646 707 728 1,435
TET1TH 326 355 359 714
THET2 T H 445 460 474 934
TH¥BISTH 197 203 238 441
THBTATH 144 143 170 313
HTAEHET 19 18 8 26
T 193 190 198 388
#8)11 BT 43 47 55 102
RKIH 302 329 360 689

B KHT 1,727 1,823 1,995 3,818
LS 251 327 324 651
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HEZ HH 5 £ i
XLAT1TH 862 859 1,033 1,892
KELAT2T B 305 344 364 708
X#ILET3TH 151 166 176 342
1 [ BT 51 67 81 148
hHET1TH 336 368 421 789
hHET2TH 446 487 541 1,028
hHEI3TH 451 559 537 1,096
niEld:) 258 256 289 545
th 2 JEHT 233 226 266 492
ch T 127 132 173 305
TR AHT 737 883 884 1,767
At A ET 868 921 1,072 1,993
75 KR ET 775 1,010 1,041 2,051
75 2 [N HET 1,638 1,859 1,995 3,854
A 788 790 894 1,684
SFHEAT1TH 519 468 531 999
SFHEAT2TH 425 408 475 883
$FHEAI3TH 208 223 237 460
| BT 416 485 508 993
YHET1T B 363 452 480 932
RET3T B 330 368 406 774
RET4T B 121 115 145 260
J\ & T 975 1,114 1,155 2,269
J\HHT 169 223 232 455
+ A ERT 275 336 370 706
AR 2,394 2,572 2,707 5,279
THAR1TH 23 26 21 47
THAR2TH 1,419 1,383 1,403 2,786
TAR3TH 181 177 181 358
THR4TH 369 312 390 702
THARSTH 933 705 965 1,670
THAR7TH 318 371 419 790
THARSTH 374 419 436 855
THAROTH 403 480 540 1,020
T4B13TH 295 352 390 742
AR NBHET 1,887 1,721 1,978 3,699
HARRHET 1,269 1,220 1,274 2,494
HEARK/ERET 287 380 398 778
HEARICEHT 160 170 188 358
HEARKEHET 139 130 145 275
H ARG HET 201 230 270 500
N ] 442 466 518 984
Ky EHT 321 368 401 769
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HEZ HH 5 = 5
EHARE)IIET 286 275 307 582
HAREAH 117 133 143 276
FH AR JTHT 89 91 113 204
HEARERHE 672 571 647 1,218
B K R HET 378 419 414 833
Edai) 886 917 1,033 1,950
BEFET1TH 758 759 786 1,545
BEFET2TH 586 616 695 1,311
BRFEISTH 337 408 409 817
AIFFRT1T B 420 394 445 839
AIFFAT2T B 576 612 673 1,285
AIFTET3T B 584 709 725 1,434
A HT 187 215 207 422
B LHT 202 268 289 557
NELE) 809 841 921 1,762
ERL 693 907 899 1,806
= HHT 1,709 1,979 2,090 4,069
HEXHRET1TH 561 654 667 1,321
HELTIRET2TH 524 631 669 1,300
HLAREISTH 299 401 387 788
P fx T 324 392 422 814
mERI1TH 1,172 1,139 1,308 2,447
mERI2TH 827 955 1,081 2,036
FA T 1,336 1,449 1,617 3,066
= RITET 512 506 551 1,057
= AHT 362 305 358 663
AR#HT 9 8 5 13
=) 489 586 551 1,137
SHA1TH 708 669 839 1,508
S HHET2TH 392 438 475 913
S HAI3TH 864 795 957 1,752
S HAT4TH 786 690 902 1,592
E& T 2 2 0 2
J\BRET1TH 204 275 268 543
J\BRET2T B 256 266 247 513
J\BRET3T H 238 294 290 584
1T HT 291 449 435 884
FHEIBRT1 TH 142 172 183 355
FHaEIRT2TH 302 441 471 912
FIaIET3T B 11 26 17 43
ENOER1TH 0 0 0 0
EDER2TH 0 0 0 0
ENDERI3TH 20 20 0 20
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